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2 RCV satisfies the Majority Winn Crit

Prof Imagine X is ranked 1st place by
a majority of

voters Then X will always have a majority

of 1st place votes in every
round so X

is never
eliminated

Therefore X wins using RCV

b We need an example where someone is ranked last

by a majority of voters but still wins

5
Here C wins with plurality

Ie if even though 10 outof 16 voters

ranked last

3 g
Using plurality 06 winner is B

The voters should
instead

say Then it would

Look like



Eg Now A wins which is

preferable in their opinion
because

they like A betterthan
B

1 Total 1049
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